4.4.2 Mathematics Alternative B Paper 2 (122/2)

No | Marking scheme Marks | Comments
1.
(0.45)° ~0.2025 Ml
431-2.17 214
=0.095 Al
) 2
2. | Common ratio = 3 Bl
9% term = 9x 3* Ml
= 9x3
= 59049 Al
3

3. | Total mass of mixture

5+3+2=10kg Ml
Amount of maize flour in 3kg mixture
' MI
10
= 15kg Al
3
4. 18+20+16+10+20+15+17+12 Ml
Mean =
8
=16

Mean deviations are; 2,4,0,-6,4, -1, 1,4

-V M1 | Square of mean deviations
Z(X_X) 4+16+36+16+1+1+16
SD.= = Ml
N 8
_ |0
8

Al
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B 3 0)_(6 0 i
2B=2 =
2 4] \4 8
6 0) (1 2 Ml
2B-A= -
4 8 3
(s 2
7 Al
3
6. | Full squares =9 Bl
Half squares = 19
Area covered = 9+ lzg Ml
=18.5 cm® Al
3
7.
T
2 4 M
, 1 1 1 Ml
X——'X““‘X—-—:O
4 8
8x* —4x4+2x-1=0
Bx*~2x-1=0 Al | orequivalent
3
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8. | Time difference = 1410h — 0830h M1
= 5 hr 40 min
4 Ml
Angle difference = W
_ 340
4
= 85 Al
80+0 =285
6 =5°
Longitude of T is 5°W B1
4
9. 1 3 -2 M1
a+2b+3c=| |+2 +3
4 -1 -1
1 6 -6
4] (-2 -3
1
-4 A
-1
3
10. | . 690 = X
(a) MY M1 or equivalent
Xx=4sin69=3.7
RS=2x=2x3.7
Al
=74 cm
() | tan69° = ST Ml or equivalent
4
ST =4 tan 69°
=10.4 cm Al
4
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11| A = 30000(1.08)’ Ml
= Ksh 37791.36
Interest = 37 791.36 — 30 000 Ml
= Ksh 7 791.36 Al
3
12. | Age of the two pupils
12x9-92=16 Mi
x+x+4=16
2x =12 Mi
Xx=6
+ =
x+4=10 Al
Age of the two pupils are 6 and 10
Ages of the 12 pupils are 10, 12, 11, 5,7, 9, 8, 6, 10, 14, 6,
10.
Modal age = 10 years E:‘l
13. | z(x—y)=xy Ml
ZX —Xy =7y Ml
X(z-y)=zy
zy
X=——
-y Al
3
14,
B
8 6
A
- 12 o
122 =6"+8 —2x8x6Cos 0
144=36+64-96 Cos 8 Ml
44 =-96Cos 6
Cos 0 =-0.4583 Ml
0=-62.7
But 0 is obtuse
v 0=1173° Al
3
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i

sl =

15.

|
Inverse of S[
0

Det=2

o e

Bl

Bl

16.

(a)

(b)

y=x"-3

X -3

y 6

o i

Bl

P1

Cl
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17.
(2)

(11)

(b)

g[2a+(6—l)d]=135

a+7d=45
2a+5d =45

2a+14d=90

2a+5d =45

9d =45
d=5
a=45-35
a=10

n, =10+11(5)
=10+55=65

a=2500
d=1500

4
824:27[2><2500+23x500]

= 12[5000+11500]
= Ksh 198 000

Bl

M1

Al

Bl

M1
Al

Bl

Ml

MI
Al

10

for the equations

Attempt to solve

for 24 months
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18. | Let original number be x.
1
(a) | 7000000 7000000 200000 B 7000000and7000000
x—4 X x—-4 X
x(x —4) = 35x —35(x — 4) MI
x*—4x-140=0 M1
-14 10)=0
(x-14)x+10) "l
X= 14 Al
(b) Amount contributed by each remaining members
_ 7000000 Ml
10
= Ksh 700 000
Monthly contribution for each member
700000
M1
25
Al
=Ksh 28 000
()
200000
x100%
500000 Ml
= 40% Al
10

348



19.
(a)

(1)

(1)

(iii)

b(1)

(1)

(ii)

AC drawn accurately
BC drawn accurately

ZABC =45°
Area of triangle = —;—x 6x11sin45°

=233 cm?
Perpendicular bisectors of AB and BC constructed

Location of centre

circle drawn

Radius = 5.7+0.1cm

Bl
Bl
Bl

Ml
Al
Bl
Bl

Bl
Bl
Bl

10
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20.

(a)

(b)

(©)

(d)

length (mm) | freq
25-29 3
30-34 9
35-39 15
40 - 44 7
45 -49 6
Modal class =35 -39
Mean
length Mid pt f fx
25-29 27 3 81
30-34 32 9 288
35-39 37 15 555
40 - 44 42 7 294
45 - 49 47 6 282
1500
Mean‘:'l—s—(E
40
= 37.5mm
E
F e e
C, + e R
—5— —— :
T 1 |
2 ‘N v7A
//L /
Opsogl  po34  B53 10-44 15-49
o lengt o

Bl
Bl

Bl

Ml
Ml

Ml

Al

S1

B2

10

Class widths
freq

Mid point
fx

scale

All bars
correct ,allow
Bl for at

least 3 correct
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21.

Dr. Cr.
Date Particulars Folio | Amount | Date Particulars | Folio | Amount
Ksh Ksh
April 02 Opening 350000 | April 03 | Cement 195 000
balance
08 | Sale timber 90 000 05 | Timber 120 000
15 | Sale cement 50 400 20 | Nails 16 500
18 | Received 4000 29 | Rent 18 000
22 | Timber 10 000
28 | Sale cement 84 000 30 | Wages 24 000
214 900
588 400 30™ | Balance c/d 588 400
1" May | Balance b/d 214 900
15" Cement Sale Bl
28™ Cement Sale Bl
Dr entries correct B2
Cr entries correct B2
Dr entries Added Ml
Cr entries Added Ml
Balance Dr - Cr M1
= Ksh 214 900 Al
10
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22,
(a)
(1)

(i)

(b)

Monthly taxable income

25200+6000+1500

Ksh 32 700

Tax paid

10164x0.1=1016.4

9576x0.15=1436.4

9576x0.2=1915.2

3384x0.25=846

Total tax payable = 1016.4 + 1436.4 + 1915.2 + 846
=Ksh 5214

Less relief 52141162 = Ksh 4 052

25200x0.02 =504

Extra tax paid = 504 x0.25
=Ksh 126

Ml
Al

Ml

Ml

Ml
Al

Bl

Ml

Ml
Al

10
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23.
(2)

30 75 135
06 3.7 L
All values correct B2 | Allow B for at least

(b)

130

Cay

S1

P2




(c)
(M

(i1)

Curves
Wheny=-05 x=153°

Stanx=7

tanx:Z:1.4
5

X = 54°

C2

Bl
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24.

(2)

(b)

(©)

4
5 <
<R 3
7
A 5
1
8
¢
7
1
1 £ _~R
2 7
B 1
8
7 L
15 14
6
14
P(ARR) + P(AGG)
154 132
2787 2°8 7
5. 3.1
8 56 56

P(ARG) + P(AGR) + P(BRG) + P(BRG)
153135187 178

2872872151421514

15,152 0
112 112 15 15
_ 9
840

A

Bl
Bl
Bl

Ml
Ml

Al

M1

M1

M1
Al

10

B! For each branch

Choosing from A
Choosing from B
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